B - 320

Seat
No.

Total No. of Pages : 4

B.A. (Part-1II) (Semester -‘III) (CBCS) Examination, November - 2019

HISTORY (Optional)

DSC - D2 : History of India (1757 - 1857) (Paper - IV)

Sub. Code : 73371/77671

Day and Date : Monday, 25 - 11 - 2019 Total Marks : 50
Time : 12.00 noon to 2.00 p.m.

Instructions: 1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Answer the following questions by choosing the correct option. [10]

a)

b)

d)

erected the structure of a system of East India Company
Government.

i)  Lord warren hastings ii) Lord hastings

iii) Lord cornwallis ' iv) Lord elphinstan

The battle of Laid the foundation of the british power in
Indla B

0)J . Buxar > ai :; ii)  Srirangapattanam

M/ g, )3 ). daihie

Lérd Dalhousie dgfyated the state of jhansi on the ground of _

i} Dlslocatlon and mis conduct ii) Rebellion
111) Bisapproved adoptive heirs iv) Subsidiary alliance

The Begum of Aundh led the revolt in the uprisiry of 1857.
i)  Nurjahan ii) Hajrat mahal
iii) Farida begum iv) Chand mahal

British started dual system of government in India at

i) Bengal i) Bombay

iii) Pondichery iv) Madras

The theory of Drain of Wealth was put forward by

i) R.S. Sharma ii) Dadabhai Nowroji
i) R.C. Dutt iv) R.P. Dutt




g)

h)

)

Q2) Write short notes (any four):

a)

b)

c)

d)

e)

f)

Q3) a)
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Subsidiary Alliance system
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End of the East India company’s rule was the most important result of

i)  Non-co-operation movement i) Home rule movement

ii) The uprising of 1857 iv) Quit India movement

The system of subsidiary alliance was implemented by

i) Lord Dalhousie

iv) Lord Welleselly.

was appointed as the governor general of India in 1856.

i)  Lord Dalhousie

i) Lord Canning
i) Lord Benting

ii) Lord Caning
iii) Lord Karzan iv) Lord Eljin
The uprising of 1857 took place at
v1) - - Delhi i) Kanpur
iii) Meerat iv) Jhansi

[20]
Haidar Ali

Mahalwari system
Theory of drain of wealth
The causes of the uprising of 1857

Queens proclamation (1858)

Write causes of the establishment of company rule in India.
OR
Explain the work of Lord Dalhousie.

[10]

[10]
OR
Explain in brief effects of the uprising of 1857.
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gEAT : 1) 6 U EvEs I,
2) SR 3k WA YUt IuT geitea.

q.1) Tretie et watamem g vaa Raga R s s [10]
< | AR T T2 Sfea o TemEAT= oA Skt et
) wEam R ‘ i) <SR
i) IS WA iv) WIS TAlhA
) e =1 T Wiamed fafee T aran uraen Ae.
i) shtrageum

i) T HgA
iv) <ig wgd

iii) 1857 < 3e™ iv) OIS YA Tsas




B - 320

) A BT Ugd R AT e g R TG hell
i) e S i) e s
i) e =@fen iv) e e
@) @ 1856 WA TN WHRA ... Frh R TR A R AU
FHett.
) e st ii) IS WA
iii) e w2 iv) e ofeem
q) w1857 IdEM............. o1 feemmolt geara sarett
) g i) ®ER
i) & iv) o
¥.2) ow forgr. (Fivrendt =w) [20]
HA) TR I
q) A ES
®) WA ugd
®) onfis f-arumen frgm
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L\ L T3 AT O TEE GF FvarE S o, [10]
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W.4)31) arganfeom=t (de-industrialization) swot fererg . [10]
e
q) uF 1857 = Seam fafae afom v .
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